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QUESTION 1
According to the ISO/IEC 40210 standard, which of the following statements is NOT correct?

A view conforms to a viewpoint

A viewpoint always addresses one or more stakeholders
A concern is always important to one or more stakeholders
A viewpoint always covers exactly one concern
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Answer: D

QUESTION 2
Consider the following diagram:

Cl L = Poli it
ose . ~ | olicy
contract Comracing administrator

Risk
assessment

Assess risk

profile Actuary

What is the strongest structural relationship that can be derived from business role Actuary to
business interaction Close contract (indicated by number 1 in the diagram)?

Assignment
Aggregation
Realization

Used by
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Answer: D

QUESTION 3

The diagram below shows key elements of the configuration of ArchiSurance's newest and most
powerful high-end server, which is a model T-9900:
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T-9900

DVX-1200 O

AX-3000 O

Which of the following descriptions of the configuration is most consistent with the diagram?

A. The T-9900 is fitted with a DVX-1200 cooling system and and AX-3000 onboard disk array
B

. The T-9900 is running PRO-FIT's custom, internally-developed DVX-1200 software for enterprise risk
analysis and is fitted with an AX-3000 onboard disk array

C. The T-9900 node is running DVX-1200 middleware and the AX-3000 operating system software
D. The T-9900 is an assembly of DVX-1200 processing units and AX-3000 high-speed memory arrays

Answer: C

QUESTION 4

What Implementation & Migration Extension concept is used to model the outcome of an analysis
of the differences between two architectural states?

Transition

Gap

Work Package
Deliverable
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Answer: B

QUESTION 5

The Application Co-operation viewpoint describes the relationships between application
components in terms of the information flows between them, or in terms of the services they offer
and use. Which of the following concepts cannot be used in an Application Co-operation view?

Business object
Location
Application interface
Data object
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Answer: A

QUESTION 6

All ArchiSurance divisions use a Claims Adjudication Process specific to their lines of business to
determine whether a claim should be paid as well as the payment amount.
Consider the following diagram:

i Claims =)
Adjudication

.<........

Claim File

Which of the following statements is expressed by the diagram?

The Claims Adjudication Process realizes the Claim File

Claims are filed after the Claims Adjudication process is complete

The Claims Adjudication team relies on the Claim File to get its work done
The Claims Adjudication process accesses the Claim File
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Answer: D

QUESTION 7

The ArchiMate modeling language can be used to describe different types of architecture and the
relationships between them.

Which of the following lists the three main layers of the ArchiMate language?

Business, Information, and Application
Application, Data, and Technology
Business, Application, and Technology
Business, Integration, and Infrastructure
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Answer: C
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QUESTION 8

Maya has been working for ArchiSurance for five years. The following diagram describes her
responsibilities:

Maya %
Senior
Underwriter
Complex Case (R Simple Case
Underwriting Underwriting

Review

Which of the following answers best interprets the diagram?

A. Maya works with the Senior Underwriter who works directly on complex cases and reviews simple cases
B. Maya supervises a Senior Underwriter who works directly on complex cases and reviews simple cases

C. In her Senior Underwriter role, Maya supervises separate teams that work directly on complex cases and
review simple ones

D. In her Senior Underwriter role, Maya works directly on complex cases and reviews simple cases
Answer: D

QUESTION 9
Consider the following diagram:

Underwriting
Application
Product Quoting Component Rating Component
Configuration
Component

What does the diagram express about the structure of the Underwriting Application?

A. The Underwriting Application groups together a number of modules that are either free- standing or
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part of other applications
B. The Underwriting Application is composed of three application components
C. The Underwriting Application invokes three other modules
D. The Underwriting Application performs three functions

Answer: B

QUESTION 10
Consider the following entities commonly found in a typical large organization:

. A chief executive

. A software application for financial management

. A human resources department

Server hardware that is used to host business applications

Sw N

What is the single ArchiMate aspect in the ArchiMate Framework that describes all these entities?

Passive structure
Business structure
Behavior

Active structure
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Answer: D

QUESTION 11
Which standard ArchiMate viewpoint focuses on the (internal) structure of a company, a
department, or a network of companies, and identifies authorities and responsibilities?

Actor Co-operation viewpoint
Organizational viewpoint

Business Function viewpoint

Business Process Co-operation viewpoint
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Answer: B

QUESTION 12
Which ArchiMate concept describes the behavior of a business collaboration?

A business interaction
A business event

A business process

A business service
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Answer: A
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